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This Question Paper consists 16 pages. Of this 30 questions for New syllabus and 30 questions for Old syllabus.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

6  Write your Question Paper code No. 46/OS/1-A on the answer-book.

7 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have choosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the question will be yours only.
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2. New Syllabus is compulsory for those who have registered for 2012-13
(Block-I) admission. (Those who are appearing in April 2013 wunder
“New Syllabus”.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
(Block- I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

: ( weamt o ) ,

1. 39 U gRae W & WeAus € ¢ Uw HeNitW Hemdw wwl woendna & fw
X A W Sifthd 9T gEU €elled § UE oiemdd annll Uy onend § o™
W QA U e § |

2. O U S qlenda & fwu etvadd § R Amies 2012-13 (st 1) o
T ¥ | (S el@ 2013 H AU weRRH & ofda qden ¥ o7 W w ¥ )

3. YOI UERRE 39 UeeEl % fau sitEn ¢ feer Amies 2012-13 (@w-1) &
UEW TAM ¥ |

4. wOedl e TRy % TR kAW UH YA Hl & Tlam & |
5. qlemedl @ & U % WA bl M@H IAT & Bl RN Gl § |
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LD

Note :

et

BUSINESS STUDIES NEW
(et sreaes)
(215)
New Syllabus / a1 T&IsEH
- 3 Hours] [Maximum Marks : 100

: 3 gu]

(1) All questions are compulsory.

(2) Marks allotted for each question are indicated against it.
(1) |N 99 afEd ¥ )

(2) UAF UT & Ok IGb gEE W T T |

Which of the following is not an economic objective of business ?
(A) Creation of customers

(B) Best possible use of resources

(C) Economic well being of the employees

(D) Continuous innovaitons

= 4 @ s oaEE @ oniaw Seed el § 7

(A) UR®H I

(B) HatEdl @1 Srsadd SUANT

(C) wHardEal &1 SN we

(D) Frf@ 7@ yads

Minimum number of members required to form a Public Company are :

(A) 2 ®B) 7
(C) 10 (D) 20
(A) 2 ®B) 7
(C) 10 (D) 20

[quies : 100
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3 In which of the following forms of organisation, liability of the members is unlimited ? 1

(A) Private company (B) Public company
(C) Cooperative society (D) Partnership
HAE TS % o wEw W ¥ feud geRl @ afue ot Bl #7
(A) T @ (B) @St sl
(C) @bty afuf (D) =R
4 The limited liability Partnership Act was enacted in the year 1
(A) 1932 B) 1956
(C) 2008 (D) 2010
it e e stfutem g ad 9 s 9% %
(A) 1932 (B) 1956
(C) 2008 (D) 2010
5 Which is not an advantage of rail transport ? 1

(A) It is relativity faster than road transport
(B) It is suitable for carrying heavy goods in large quantities over long distance
(C) It is a flexible mode of transport

(D) Tt is a convenient mode of transport for travelling long distances
e 5 ¥ wF-ar W@ ufEeT & oWw T ?

(A) T% USH UNEed @l gad § e A @

(B) ¥& 9 "MW oifyd AT H @&l U a% H A & WY SUGH §
(C) g ufw@es &1 @i qiEd

(D) TE @& g & a0 & fu we@ oifus gher e wEd ¥
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6 A trader of India has imported goods from U.S.A. but he is not in a position 1
to pay import duty immediately. In which type of ware house he can keep the

goods ?
(A) Public ware house (B) Government ware house
(C) Bonded ware house (D) Cooperative ware house

IR % UHh AN § JUET ¥ O AW [ha ¥ dfleT a8 gl o &
B YTAE B @l Rafq § 781 ¢ 7% 69 UaR & 4SOy | AW @ W@ ghar e ¢

(A) WESINEG HSRE (B) W@ WERTE
(C) 9um YWEN[E (D) WEHN WSE
7 News papers are suitable for advertising 1

(A) Consumer goods designed for general public
(B) Products required by target customers
(C) Agricultural products meant for farmers

(D) Products that require live demonstration to the consumers
AR ¥ S fqee & W Suge € 9w ¥

(A) S qERT & @0 TR I aegu

(B) Wid IuWrR o Dl AEITD TU

(C) framt & fau Sugea &t 4l Saw

(D) Te Tl dren fgmn s emasas g @

8 The consumers protection Act was enforced in the year 1
(A) 1972 (B) 1982
(C) 1986 (D) 2002
SR WXEw SfatEE e 9 § T gen 9% %
(A) 1972 (B) 1982
(C) 1986 (D) 2002
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9 Wage employment means 1
(A) Doing a business
(B) Engaging in some economic activity on his own
(C) Managing an economic activity on his own

(D) Serving another person for wages or salary

FHd w1 otk T

(A) HIEE@ TAMT

(B) wWd Tl onfde fpem § W@ w

(C) @ & et onfde fpam &1 Wy &

(D) Toret o/ =i & 99igd &1 Ja & §ed Al UEH Al

10  Which is true about entrepreneurs ? 1
(A) They are gamblers
(B) They depend on others
(C) They are born not made

(D) They take risk in converting ideas into action

TH SEHl % GEY H -6 9 § 7

(A) T® A B 8

(B) =& @O T iR & ¥

(C) o€ S99d &d & 9C & W

(D) @& faRi & #d &' ¥ sE@d @B AfEH Sod F

11  Explain the following in reference to E-commerce : 3
(a) B2B (b) B2C
e & e # @ gHeEy

(a) B2B =io9™ ¥ =ga@®™@  (b) HOE™ ¥ W B2C

12 Explain the term 'primary industry' giving any two examples. 3

Trfes ST B AT BHINT| 3k his ol SaEXv W AN
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13

14

15

16

17

18

State the effect of non-registration of a partnership firm. 3

TEERl ®H & USRI T HIE b UOTHl @l gaiEul

A ship carrying rose flowers to France for Valentine day was insured against 3
losses arising from accident. The ship reached the port safely and on time but

the consignment got spoiled due to delay in unloading. Is the insurance company
liable to pay the claim of loss ? Which principle of insurance is violated ?

Explain the principle.

Tsh WE, Siih dW<ET T b Y B [ b W W W @1 AT, B GEe A
TarEl BN % fagE S SO T SRS SROTE W 9 U U gRiEd 989
T WP AW Bl SARAT H U % RO 9% WG F I T ST B B
T % T % IAH % (WU I E 7 TEl S b BN HEr @ Iwes gal
T 7 fomrg & gusmREU)

Explain in brief the following modes of purchase : 3

(a) Purchase by sample (b) Purchase by inspection.
% @ HEaigd TSfadl @ 9eY § ausEy

(a) AT T B A (b) Frdew g™ w4

Explain the following characteristics of partnership form of organisation : 4
(a) Unlimited liability (b) Principal Agent Relationship.

I WA % WEEnl @Weu &l v fasivarst s awsEg

(a) oMItE TS (b) W Tsie Tl

Explain the following types of warehouses : 4
(a) Bonded warehouses (b) Public warehouses.

1 R % WS Bl @ qAsEy

(a) TUH TR T¥ (b) WEEEH HER B

Give any four difference between banks and money lenders. 4

¥% iR 9EaR & 4™ HF A o< A |
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19 A buyer can seek compensation from the manufacturer if the product supplied 4
to him is defective provided he/she takes care of few things after buying.
State them.

shar fafmiar & afoafd @ 90 F gear € Al S8 AW Tl Sae @ omgfd @
T ¥ oY 3O %Ha b U9A PV I B AW H @l 2| 3T Il B G i |

20 Explain wage employment and self employment as career avenues. 4

HeBdl T WRSTR 1 Sl & € & 89 § qAAET

21 State in brief national objectives of business. 5

A & T[T Se9Al w1 GET ¥ Toa@ dHINTU|

22  State any five advantages of Multinational Company. 5

UL HIH & el g A B Sed@ B |

23  State in brief any five functions of a wholesaler. 5

qis fashar & Wi UM B IqBEU)

24  Why departmental stores are becoming more and more popular in Indian cities ? S
Give reasons in support of your answer.

qRaE e o fauria quer = orantie Wiehd & W & 7 oY SuX & audd
¥ HROT S|

25 "NGOs have undertaken various activities as a part of consumer movement. 5
They perform several functions."

Explain in brief any such five functions.

‘AR T et (NGOs) 5 SUHieRT ofiaied & Tsh o & &9 ° fafy=
Ty faftaT oo ¥1 3 ®E veR & & ff exd #17 U9 TRl utw @mr @ gaw
¥ gusEy|
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26 Warehousing is a very important auxiliary to trade. Justify it by explaining 6
its need by giving any four points.

‘FETT TH AT W@ O AUR WEWw HE § | THHI TR B GHA 5T
ok Sifaa @ g Wi

27  Explain 'granting of loans' and 'granting of advances' as a function of 6
commercial banks.

Tiviiae Sar & ®E B B F OHO YEM BT SR AR WaW @Ar
IR H GHIARU|

28 One of your friends wants to employ sales persons to sell his products. 6
Explain how the qualities (any four) that a sales person should possess.

AUH U B o SAEl @l W & fMu g famamatet @ gl wo
aEaT S| Tk wAl W B W O BN Amew 7 fRwl U@ 9 YO @ 9§ §9esy|

29 Explain in brief the following right of consumers : 6
(a) Right to safety
(b) Right to be informed
(¢) Right to choose.

SUHERT % EEREd S @ gau H geeEy|
(a) Y& @ SAUHR

(b) AT TN B ATBR

(c) T @ el

30 State any four qualities required for success in self employment. 6

WUSTR # q%aal & g smEsgs fesl a) on &1 avie sy
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Time
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Note :

et

BUSINESS STUDIES OLD
(et sreaes)
(215)
Old Syllabus / JUAT 9T&rRA
. 3 Hours] [Maximum Marks : 100

3 gug]

question.

(2) Multiple choice questions carry one mark each.

[quies : 100

(1) All questions are compulsory and carry marks as indicated against each

(3) All questions are to be attempted together within the allotted time and no
separate time is allotted for answering multiple choice questions.

(2) IS YT TH-TEK H FH § |

(1) |af g e € ol ud® UsH & i sEd @y e ™ ¥

(3) W YAl & SuX MU g # 3 ¥ ol @ Al o@W ° HH aETe

g9t & fag & ¥

Which of the following is not an economic objective of business ?

(A) Creation of employment (B) Creation of customers

(C) Profit earning (D) Regular innovation

= 4 @ s aEE @ oniaw SRed W g7

(A) TSR g (B) U®H I

(C) @ fTd &L (D) Tt = vadw

Disposal of solid waste of industries, mines and quarries causes

(A) Noise pollution (B) Air pollution

(C) Land pollution (D) Water pollution

oiEifies sesal, @l ad WEMl a0 MW o HEX & faEs @R @
(A) @ gguer @l (B) g HguOT @

©) S v @ (D) W& W H
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3 Dairy Farming is an example of which type of industry ? 1
(A) Genetic industry (B) Secondary industry

(C) Extractive industry (D) Tertiary industry

TY SART [FE UHR & IEAN B I ¥ 7

(A) i S (B) fadras <&
(C) TT=BYuT FEmT (D) JdEH IaE
4 In a cooperative society, the principle followed is 1
(A) One share one vote (B) One man one vote
(C) Multiple votes (D) No vote

ety aita o e faga & uew fear Sar ® 9w ®

(A) UTH 391 Tk Hd (B) U& AR TH A
(C) ¥ &% wd (D) i3 Aq T
5 Which of the following is the liability of a minor partner ? 1
(A) Unlimited liability (B) No liability
(C) Limited liability (D) None of the above

= ¥ 9 B U i 9 @ it § 7
(A) It afa (B) ®I3 airea

(C) it afi (D) SuUw H A B T
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6 Communication through the use of various parts of human body is called 1
(A) Body language communication
(B) Gestural communication
(C) Oral communication

(D) Verbal communication

R & fafr= 9 & Sua ¥ 99wy @ wEd §
(A) RS TE 4G F Y

(B) dikhias TN
(C) Hifgwm FHwT
(D) sfE® F=wo

7 After sending an invoice, if the seller notice that the goods delivered to 1
the buyer have been undercharged, he can rectify the mistake by preparing a —
(A) Credit note (B) Debit note
(C) Letter of advice (D) Letter of regret

drsTe Bl U HTAb T9A AT TIohal ®BY TdT T0T & 6 bar ol IS T aggeH @l
T HH TOAT T E A g8 39 T Bl GER T A/ TR Y, B gehar @

(A) SHI 9= (B) Im X
(C) JI A (D) ©E T
8 Santhosh purchased a diesel car for Rs. 7 lacs from an automobile company and 1

found its engine being defective. Despite many complaints the defect was not rectified.
Suggest him the appropriate authority to file his complaint under Consumer Protection

Act.
(A) District Fourm (B) State commission
(C) National commission (D) High court

AW 4 TH SAEHEEd HO ¥ 7 9@ 9§ feaw e @ikl qun s umE
fF &R # 99 dugel ¥ *F IR Bemd w0 W) A 3@ AW @ AR T8
foran a1 38 ge@ AT 6 TF Iude Wxaw sttt & oea e Suge
TIHETOT § STl [ &S HY |

(A) fer wrm (B) I HUIH
(C) T wHIH (D) T= A
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9 Self employment provides opportunities of earning livelihood for those unable to 1

pursue.
(A) Wage employment (B) Confidence
(C) Creativity (D) Higher education

WRASAIR 39 AT Bl STl HAM 61 SITEY UG &A1 § S Fges & o
o B ¥

(A) & (B) o fasama
(C) YGerTHSEAT (D) S=afyren
10  What do you understand by 'Guilds' system ? 3

Y T g oY T guHd & 7

11  Explain any three characteristics of sole proprietorship. 3

Tohel W @l @i diF [a99did 99sAET|

12 State the meaning of Bonded warehouse. 3

dYh AW e w1 Y SdEu|

13 Who is a partner by holding out ? 3
‘FURT E GIFEN B Bl B 7

14 A factory owner gets his stock of goods insured, but he hides the fact that the 3
electricity board has issued him a statutory warning letter to get his factory's
wiring changed. Later on, the factory catches fire due to short circuit. Can he
claim compensation ? Give the name of the principle involved in supports of
your answer also explain this principle.

Ueh H@N & @Ml 3 o0 | & Wb &1 M1 HAT Wb I8 Th aed @l
B T 6 SEw faga a9 7 U Juite 9dE @ o e € e w emam
Y fqstell & I ® 989 31 98 H M The ¥ HREW ¥ A @ T3 R 98
Al 1 I BT Wbl ¢ 7 oMUY Ia¥ & GHdd H wEE g @1 AW g
qoT 39 "YU ¥ GEIEU)
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15 What is meant by 'Fidelity Insurance' ? 3

Tagam 7 @1 Fd FAEU)

16 Describe any three objectives of advertising. 3

fosta & fo=dl A Seedl @1 auie @it

17 What is meant by 'Wise buying' ? 3
ghgrar qof Tleerll & = st 87

18 What is a stale cheque ? 3
g Tty o 9% @ o saEu)

19  Give any three features of an entrepreneur. 3

T SEHl W HlE A QA By

20 State any three qualities required for success in self employment. 3

WRSTR o %adl & [0 AEedd Bl dF o &1 que ST |

21 Distinguish between Private Limited Company and Public Limited Company by 5
giving any five points.
1 U fog oy el ud aeeive hal 9 o 9aEy |

22  State any three advantages and two limitations of water transport. 5
W@ URaET % diz o @9 QAT & el 9dEy|

23 Give any five secondary functions of a commercial bank. 5

qiviiae S & wis U fEaae ™ gaEu)
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24

25

26

27

28

29

30

The Manager of Vani Enterprises dealing in cosmetics is facing the problem
of poor sales. Suggest and explain any five promotional measures that she
can undertake to improve the sales.

TEd FH A fEenl w guen ¥ geE g R aw fokw g9 % we-d
qb-h STIATT (®IS TME) 3T debeilehl @l 9uAET )

Write any five differences between self employment and wage employment.

WA UF ey § @i 9™ X 9aiEu|

Why is consumer protection required in India ? Explain in detail.

qRAG § IqWGAT G Dl b SETHhdl &7 RN ¥ 9usRu|

What is Business correspondence ? Explain the importance of
Business correspondence.

TGYIIR T AR &1 JF IaEU| FI9ide U9 AIER & HEd Bl GHEU|

What is Departmental store ? Explain any five advantages of Departmental store.

furim der 68 wed T7 fauri Ter) & ol aa @l & 9usmsul

Describe the role of NGOs in protecting the interest of consumers.

SUHERTSA! % WY@ ¥ X g @Al i & v dHifeg |

"The businessmen are responsible for aggravating problem of pollution".
In the light of this statement explain the role of businessmen in checking
pollution.

T W el ¥ ghe & fau gaeml Sawrl € 39 weE @ o'W @A
BT USUUT Bl Uk H FIEIEAl w e H 9HeEg|

5

~
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